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OR
Discuss the application programmirrg interfaces and its paradigms.
Explain the types of source and sink in a sensor commLlnication network.

a. Explain S-MAC protocol with a,r.,,r*ffi
b. Explain low energy adaptive clustcring hierarchy (LEACH) protocol in detail.

OR
a. Explain multipath unicast routing [)rotocol in dctail.
b. Explain multihop clusters in an hicrarchical networks.

Module-3
Writc a C/C++ program tbr Ardr,rino controlled traffic -control
OS function.
Explain IoT security tomography and layered - attacker model.

OR
Explain privacy, vulnerabilities ancl security requirements of IoT.
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(08 Marks)
(08 Marks)

(08 h{arks)
(08 N{arks)

lights usin g nrultithreading
(10 Marks)
(06 Marks)

(08 N{arks)

(08 Marks)
(08 Marks)

(08 NIarks)

(08 N{arks)

(08 Marks)
(08 Marks)

6a.
b.

7a.
b.

8a.
b.

Explain Eclipse paho with java irnplementation of MQTT clients broke r architecture.
(08 Marks)

Module-4
Discuss thc transceiver tasks and clraracteristics with its RF fiont end stniclirre. (08 N,Iarks)

Discuss the energy consumption 01 sensor nodes in detail. (0ti N{arks)

USN

Seventh Semester B.E. Degree Examination, July/August
loT and Wireless Sensor Networks

'l-imc: 3 hrs.

Note: Anstver uny FIVE full questiorts, choosing ONE full question from eut:lt nrcdule.

Module-1
a. Explain IRM IoT conceptual framc rvork with a ncat diagram
b. Explain in detail LWM2M rvith a ne at diagram.

GBG,$,.

l

OR
a. Explain with a block diagram Constrained Application Protocol (CoAP) in cletail. (08 Marks)
b. Explain the MQTT protocol rvith a neat diagram (0ti N{arks)

Module-2
3 a. Explain 6LowPAN protocol rvith a neat diagram.

b. Explain IP addressing in IoT.

OR
a. Explain the seruice models olclouti computing with a neat diagram. (08 Marks)
b. Discuss with a neat diagram loT cloud for application and service using Nirnbits server.

(08 Marks)
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